V2= VB)2+ /(2 + VB)? € A& 2heha] shlo

O V5 @0 ® 25
@ 4 ® 2V5+4



=

oo

2o 7

%

rlo
o

= TE2H?

O Vs+1<+5
@ VE+1<V5+ V2
® 3-410< V10-5

@ V5+1<5+1
@ 3-+vV10< Vi0-4






e % 82 27

oo
Mo

=
K

D x243xy—292 = (2x+y) (x—2y)

@ x(y-1)-y+1=0p-1(x-1)

® ¥ —dx=x(x-2)°

@ x2-y?2 -2 +2y=(x+y)(x-y-2)

® (2x+1)°-(x-2)=Bx-1)(x+1)



¥ =2+ ]=(x-[_)?

@ 2 ® 3 @ 4 ® 5

D1



6. hee skl BAL ol8afel 132 -9 of e FoHe HAoIT
a-b+c 9 3= FotH?

132-9=(13+a)(13-b) =

@® 154 @ 157 ® 160 @ 163 ® 166



7. a-b=2vV324 W, a®+b*>—-2ab-3(a-b)-12 2] g2?

D -6v3 @ 1-6v3 ® 2-6V3
@ 3-63 ® 4-643



8. T S HIEA F3 A7y B2 A2
H7]
@ V16 =4 © -+0.09 =-0.3
© +/(-13)2 = =13 @ -/(-5)2=-5

0.6 206 0006 ®ooe 066



9. VIZ5x 7H QST S SHE A AL AAs 1 9] he Tk

@ 2 @ 3 ® 4 @ 5 ® 6



10. V30 Fx 9 gol A7t HES she 7V AL Apas x 17

@ 4 @ 6 @9 @ 10 ® 19



ol

o]
ojg
Nfo

B
T

ojn

11.

2% Apolo]

il
b

® A=z HE



D

12, oz #2004 Vi3 of Bi-§oh= H27




13. 6V2 & va BE ¥I2A Yepd 227

@ V6 @ Vi2 @ V24 @ V2 O V1M



S
2l

@ 6 @ 14 @ 18 ® 24

@ 3



15.

6
%(\/5— V2) +

® 4- 6
@ 8-36

@ 4-3V6
® 8-5V6



16. o= 5 v2 2 V3 Atelof = 7t ofd A

= Ae BF A=d? (H,
AFTEAA V2 =1.414, V3 =1,732 °Jt})

\/5;\/5 © V2+0.01 © ‘/542”/5

® V3-0.03 ©® V3+0.01 ® V3-04

Q

ORONE) ONONC) ® @6

@ @7@7@ @ @7@7@



17. The 2 e AguAe] Bulk

12 ®14 B®16 @18 G 20

Ym——— =




18, (x—4)(x+4) (2 +[ ) =xt-25600A[  Jeto] gut

P .
=7

Mo

O -4 @ 4 ® 8 @ 12 ® 16



19. 2(x+3)2+ (x+2)Bx+ 1) =ax® +bx+c ¥ W, &5 a, b, ¢ & 3
a+b+c9 Fe?

@ 11 @ 22 ® 33 @ 44 ® 55



20.

102 x 98 & A4t off, F41 34 o835t
et 227

@ (a+b)? = a®+ 2ab + b?

@ (a-b)? =a®-2ab + b?

® (a+b)(a-b)=a®-b*

@ (x+a)(x+b)=x*+(a+b)x+ab
® ( b

ax + b)(cx +d) = acx*® + (ad + bc)x + bd

o



21. 9%% + Axy + 16y* = (Bx + Cy)* @ ™), o]& W=st= Al Ade
A, B, C o &g 73177

O 28 @ 29 ® 30 @ 31 ® 32



22. 2 3 27ax? — 12ay*> = HI2 7| QA +=E T

L

=

A2

@ (3ax-—3y)? @ 3%(3ax - 4ay)?

® 3a(3%ax — 4ay)? @ 3a(3x+ 2y)(3x —2y)

® 3(9ax? - 4ay?)



23.

8x2 — 10xy — 12y? & AEal & o,

@ 4x+ 3y @ x-y

@ 2x+ 4y ® 4x-3y



24.

D 2x-4y+4z @ 2x-4y-4z

@ 2x+4y+4z ® dx-2y-4z

® 2x -4y + 3z



25. ab-b-a+ 1S 827 AFEF|S A2

@© (a-b)(b+1) @ (a+b)(b-1) ® (a-1)(b-1)
@ (@+1)(b-1) O (a-1)(>+1)



26. ThE % x' -1 957} ohd AL

© x-1 @ x+1 ® x*+1

@ x*-1 ® x+x-1



AL RE 1239

=

2
6

oo
rlo

=
K

@ 09 AlEE2 0ol

@ 36 ©] A& 6 ol

® -16 o] AlFL-L -4 o]},

@ 4 9] ZO] AlFLL -2 ot

© /(-4)% o o] AlFTL 4 o[t



28.

® V2

@ 8

® 7

@ V3

@ o



V2+3,-+0.04

=
s

@ 5 7| ® 4 7 @ 3 7 ® 2 7

@ 6 7



30. a ] 34 BEo] 3 U W, A% o] ghe BE B A1

@ 5 7| @ 6 7 @ 7 @ 8 7 ® 9 7



3

A of, A2+ 9B O] &

1
o] x2—|—Bx+§

3 4

7h

il

2
> o
=

A
3

(+-2

31.

@ 3 ® 5

®1

— ™

— |



1 1

32. 12 (3 1

)

4 3
@® §x2 - 12xy + Zy2

4

® §x2+12xy+iy2
S o 2o

® 1 +3y



33.

(x+y+3)(x+y-2)=Ax>+By> + Cxy+x+y—-6 °] 4
A+B+CO 2? (¢ A, B, C =4S

© -12 @ -6 ® o0 @ 4 ® 8



